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Name: Section #:

Grade:

ASTRONOMY 1514-11
QUIZ #7

1) Special relativity: 1 false.

a) Laws of physics are same in all reference systems moving uniformly with respect to each
other
b) There are no preferred coordinate systems in nature

C) Speed of light depends on the speed of the

a) Moving clocks tick slower
b) Moving objects are less m
¢) Moving objects are short

T F

/ 5) Light particles were formed before heavy particles. T F
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Name: Section #: D

Grade:
ASTRONOMY 1514-11
Quiz #7
e
1) Special relativity: 1 false. d

a) Laws of physics are same in all reference’systems moving uniformly with respect to each
other

b) There are no preferred coordinat?fstems in nature

¢) Speed of light depends on the spéed of the observer

2) Moving at speeds close 0 speed of light: 1 false.

b) THe greater the red-shift of the object the fastest it is moving away from us
c)Hubble's constant is a well established number

4) The Cosmological principle says that on large scales, universe is uniform and appears the
same. T F

5) Light particles were formed before heavy particles. T F
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